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Study the data in the given table and answer the questions that follow

The table below provides data on the percentage (%) distribution of job vacancies in IT
companies situated in various Indian cities in the year 2009 and 2019. In the year 2009, the
total number of vacancies was 5.4 lakhs and in the year 2019, it was 8.6 lakhs.

City Percentage (%) of Job Vacancies
2009 2019

Bangalore |15 22
Hyderabad|10 8

Pune 12 6

Mumbai |10 18

Chennai |2 10

NCR 21 20

Other

cities - 18

Sub questions

Question Number : 1 Question Id : 2105298915 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of vacancies available in the city of Bangalore in

the year 2019 and 20097

1. 108200
2. 113120
3. 118400
4. 96400
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Options :
21052935001. 1
21052935002. 2
21052935003. 3
21052935004. 4

Question Number : 2 Question Id : 2105298916 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

What is the average number of vacancies available in the city of Hyderabad in the year 2009

and 20197

1. 41080

2. 42740

3. 58610

4. 61400
Options :
21052935005. 1
21052935006. 2
21052935007. 3
21052935008. 4

Question Number : 3 Question Id : 2105298917 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

What is the total number of vacancies available in the city of Chennai in 2009 and in that of

Mumbai in the year 20197

1. 2.16 lakhs
2. 2.04 lakhs
3. 1.98 lakhs
4. 1.92 lakhs
Options :
21052935009. 1
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21052935010. 2
21052935011. 3
21052935012. 4

Question Number : 4 Question Id : 2105298918 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

If the number of vacancies in the city of Pune is 48000 in the year 2019 and the percentage
distribution is the same as given in the table, then what is the number of vacancies available in
NCR in 20197

1. 1.2 lakhs

2. 1.32 lakhs
3. 148 lakhs
4, 1.6 lakhs
Options :
21052935013. 1
21052935014. 2
21052935015.3
21052935016. 4

Question Number : 5 Question Id : 2105298919 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

What is the approximate percentage rise seen in vacancies available in the city of Hyderabad

from 2009 to 20197

1.21.8 %
2.23.23 %
3.26.23 %

4, 27.41 %
Options :
21052935017. 1
21052935018. 2
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21052935019. 3
21052935020. 4

Question Id : 2105298914 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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g¢ 2009 3M¥ 2019 ¥ fAfiy YR el & safug o & Hufdl § JomR fFa &
fevor ufawa ¥ siee 9 Gl & uew 50 T &1 99 2009 &, N F1 $o T@7 5.4
g Jt 3T ad 2019 & TE 8.6 wr@ ft| RN A A T aifESl F MUYR W UL F I
gifvre

TER - AR AR Ridd
AR Rid &1 uidwrd
g 2009 2019
HER 15 22
G 10 8
qul 12 6
TS 10 18
EEH 8 10
T 9 3N 21 20
3 WX 24 16

Sub questions

Question Number : 1 Question Id : 2105298915 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0
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AR eI | a4 2019 3R 2009 # Iuaes Riaaal &1 9 & A9 3k a1 g ?

1. 108200

2. 113120

3. 118400

4. 96400
Options :
21052935001. 1
21052935002. 2
21052935003. 3
21052935004. 4

Question Number : 2 Question Id : 2105298916 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

T4 2009 3R 2019 H §EIC e § Iuae« Rfgayl i 3iga I ol § 2

1. 41080
2. 42740
3. 58610
4. 671400
Options :
21052935005. 1
21052935006. 2
21052935007. 3
21052935008. 4

Question Number : 3 Question Id : 2105298917 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0
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ay 2009 H I3 WeR H R Has H a4 2019 H Iucis Ridadl &f ga w1 faoa-1 8 2

1. 2.16 TId

2. 2.04 Tdid
3.1.98 did
4.1.92 7id
Options :
21052935009. 1
21052935010. 2
21052935011. 3
21052935012. 4

Question Number : 4 Question Id : 2105298918 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

% gy 2019 9 qur & Rfgaa! &1 9= 48000 € 3R Ufwd fGaeu o 9o 5 G mar g &
3R &, dt a¥ 2019 H w7 It 3R & Fuaey gl &1 T feadi & 7

1.1.2 Tl
2.1.32 7lid

3. 148 7id

4. 1.67d
Options :
21052935013. 1
21052935014. 2
21052935015. 3
21052935016. 4

Question Number : 5 Question Id : 2105298919 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0
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ay 2009 ¥ 2019 ¥ gEEiG e H Suasl Ridadl & ameT feas ufawa @1 ofs Gws el & 2

1. 21.8 %
2.23.23 %
3.26.23 %

4. 2741 %
Options :
21052935017. 1
21052935018. 2
21052935019. 3
21052935020. 4

Sub-Section Number : 2
Sub-Section Id : 210529343
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298920 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

In which level of teaching, the activities of structuring, guiding and closely supervising the

students’ behavior predominate?

1. Autonomous development level
2. Reflective level

3. Understanding level

4. Memory level

Options :

21052935021. 1

21052935022. 2

21052935023. 3

21052935024. 4

Question Number : 6 Question Id : 2105298920 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0
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fareor & forg TR o O, Feem oiR faenfifal & =oasr &1 Fide ¥ uddenr &3 ot Tfafafiaf
DI Ui aidi & ?

1. WA [dHTg 'R
2 fgmelf - =R
3, HAAY - TR

4, Fd &R
Options :
21052935021. 1
21052935022. 2
21052935023. 3
21052935024. 4

Question Number : 7 Question Id : 2105298921 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0



10/1/2020

Which of the following constitutes the "ability’ (can do) component for describing the
competence of a teacher?

A. Confidence in performing teaching task

B. Knowledge of the subject being taught

C. Skill in analysing the learning tasks

D. Experience in handling learning task related situations
E. Commitment to organizing teaching-learning tasks
Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and C only
3. A, Cand D only
4. C, D and E only
Options :
21052935025. 1
21052935026. 2
21052935027. 3
21052935028. 4

Question Number : 7 Question Id : 2105298921 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0
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fordl FRreid o1 armal &f aftld & gg FMEiaRad § ¥ &H-3 380 &l (6 o)/ Yl g)
gedh Bl FHU B 8 ?

A. &0 &1 B H Seiayra

B. UG S-drd fqud &1 4

C. S SR & G390 Bt Gardl

D. ST B U go! uRFRUfaal @l THIeH @1 3HT
E. TRI&101-31EFTH BT SMiferd = i Uldasdl

i f&u e famedl # 9 Wl I g :

1. ®ga B, C AR D
2. Pad A, B AR C
3. Bad A, C AR D
4, H3AC, DIARE
Options :
21052935025. 1
21052935026. 2
21052935027. 3
21052935028. 4

Question Number : 8 Question Id : 2105298922 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0
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When reflective level teaching and learning are successful, students emerge with
A. A strong logical basis to retain the information

B. An enlarged store of tested insights of a generalized character

C. A firm relational structure in the items of information

D. An enhanced ability to develop and solve problems on their own

E. Seeing relationship and tool use of a fact

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
Options :
21052935029. 1
21052935030. 2
21052935031. 3
21052935032. 4

Question Number : 8 Question Id : 2105298922 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0
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o fqaif %) & 3R e 9% gid & df faentdal # FHafaiad 7o 3R & 99 3l § -
A, a1 & YRU g ¢ dlidd YR
B. UTHI-G Udhfdl B URW! §3 o9 ey

C. GoHl § Udh =6 JdeATd gidl

D. THETH! o fasfid & Ud 35 WU THIUH B3 i Hdg &l
E. [l 9 @1 §a9 THA1 3R 39 91YH & &4 J GG A1
i feu e fasedl & ¥ Wl o 9

1. &9d A 3R B
2. Had B 3R D
3. &ad C 3R D
4, HAAD 3R E
Options :
21052935029. 1
21052935030. 2
21052935031 3
21052935032. 4

Question Number : 9 Question Id : 2105298923 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0

A model of teaching is a description of

1. Teacher behaviour including teacher and student talk
2. Learning environment including teaching behaviour

3. Learner-behaviour including personality characteristics
4. Subject matter including its logical structure

Options :
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21052935033. 1
21052935034. 2
21052935035. 3
21052935036. 4

Question Number : 9 Question Id : 2105298923 Question Type : MCQ Option Shuffling : No Is Question V
Correct Marks : 2 Wrong Marks : 0

2101 @1 ufoa= FafaRead & J (9@ aRu avF gidr & 2

1. R1&/® agR forgd fRrare &= ardf 2nfad g1

2. T - aRaw forad fe - o5aeR ot e B
3. Gl sadeR forad aafdawd & v MHd |
4. fawg-awg forgd fawg &t aifd® Gxa-n nfaa 81
Options :

21052935033. 1

21052935034. 2

21052935035. 3

21052935036. 4

Question Number : 10 Question Id : 2105298924 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements

Statement I: Maximum performance tests are designed to assess the upper limits of the
examinee's knowledge and abilities

Statement lI: Typical response tests are designed to measure the behaviour and
characteristics of examinees

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

21052935037. 1

21052935038. 2

21052935039. 3

21052935040. 4

Question Number : 10 Question Id : 2105298924 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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CIEEA I C AT M

FHYA-| : MUHIH HeaTe TiE WRiETiial & 4 3R &Fa & S T &1 HTHad I &
o 9 oOR e 9d & |

Te-11 - fafy argfepan smefea uiemn uianfial & saaeR SR 0 BT A1 $ 5 ¢OR BT
oI B

Suddd Bl & Sidle | fEifod fdoddl & 8 98l s g

1. YA | 3R 1 aHf T8l 2l

2. Y | 3R 11 GFf 981 el 8l

3. BYH-1 a1 8, fbg oyH-11 Ul 1T |
4. DYH-1 TE! -Tgl 8, fooq Dy-11 Tl B
Options :

21052935037. 1

21052935038. 2

21052935039. 3

21052935040. 4

Question Number : 11 Question Id : 2105298925 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

“A university teacher plans to study the performance of students in implementing specific

projects in terms of their creativity level”.

Which method of research will be appropriate to use in this context?

1. Historical method

2. Descriptive survey method
3. Experimental method

4. Ex post facto method
Options :

21052935041. 1
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21052935042. 2
21052935043. 3
21052935044. 4

Question Number : 11 Question Id : 2105298925 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

w13 fayfaeray e faenfial & gomas R & gy | fafdy uivieey oaifad a3 &

3 TG BT T ® @] die] §41dl & | * 39 deY § Fufafad 5 9 o-dt 2y &

SUgad gl

1. UfceTiée fafd

2. UG Yagr fafy
3. WA fafe

4, HIARR fafd
Options :
21052935041. 1
21052935042. 2
21052935043. 3
21052935044. 4

Question Number : 12 Question Id : 2105298926 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Which of the following features of research are associated with qualitative-inquiring?
A. Actual settings as the direct source of data

B. Data collection under controlled conditions

C. Concern with process rather than simply with outcomes

D. Establishing relationships and explaining the causes of changes

E. Concerned with what are called participant perspectives

Choose the correct answer from the options given below:

1. A, C and D only
2. A, Cand E only
3.B,Cand D only
4. C, D and E only
Options :
21052935045. 1
21052935046. 2
21052935047. 3
21052935048. 4

Question Number : 12 Question Id : 2105298926 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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My B Fafafed & 9 oF-0 O Toners ogyH 9 SEfia e
A. UeTl & e Hid & w4 H J9fie gRifyfal

B. G ulkfRufaal # ued doe

C. AT URUIH & S Uiehal &l Hi & # 3@1

D. HeHl &1 TG BT AR YRac-l & DRUN BI HRSAT DA

E. HEHTT URU&T I & & 751

i f&u 1 famedl # € Wl I g -

1. Bad A, C3R D
2. PAd A, C AR E
3. $ad B, C 3R D
4 H3AC, DR E
Options :
21052935045, 1
21052935046. 2
21052935047, 3
21052935048, 4

Question Number : 13 Question Id : 2105298927 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Identify the characteristics of a good research hypothesis from the following
A. Amenable to empirical verification

B. Conceptual clarity in defining the variables

C. Plausibility of relationships postulated

D. Accessibility in terms of researcher's resources

E. Extent of its non-refutability

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and D only
3.C, D and E only
4. A B and C only
Options :
21052935049. 1
21052935050. 2
21052935051. 3
21052935052. 4

Question Number : 13 Question Id : 2105298927 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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afeiRad # © S e Uidb ey & TUN B Ugdi Bifeid :
A, SfarHia® uieu arg

B. TR DI URHIT B H S@HRUTHD WPl

C. Uiduricd Tyl &1 G-Iy

D. Tiefd! & Fidi & dgH H Ugd g1

E. 39! fBIcddl DI GHAT

i U 7T faeeal # 9 5l SR gy -

1. ®ga B, C AR D
2. Pad A, B IR D
3.$adC, D 3MRE
4, HIAA B3R C
Options :
21052935049. 1
21052935050. 2
21052935051, 3
21052935052, 4

Question Number : 14 Question Id : 2105298928 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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A research scholar while writing his/her thesis uses ICT at various stages of research
conducted. He/she justifies the conceptual errors in interpreting results attributing the same to
the specific ICT devices. This will be |labelled as

1. Technical incompetence

2. Research design’s inadequacy
3. Moral and ethical lapse

4. Human error

Options :

21052935053. 1

21052935054. 2

21052935055. 3

21052935056. 4

Question Number : 14 Question Id : 2105298928 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

D5 Ul U1 iy Uey fonad 9a iy & fafid 3o | o5 9 31 (1CT) &1 U &dl / Sl
2| dg uRumdf &1 Fdad &3 H fauRund® Jfdl & Tg! edl / 3edd! 8 AR 39d [e1U
faf2ry ans O &1 gidodl &f eR OHar / 9Fd &1 39! el S :

1. AT HEH

2. TN TEog @ suaiaan
3. Afd® iR Hifa-lqwas oot
4 GG AfC

Options :

21052935053. 1
21052935054. 2
21052935055. 3
21052935056. 4

Question Number : 15 Question Id : 2105298929 Question Type : MCQ Option Shuffling : No Is Question |
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement I: Action research is cyclic in so far as it involves 'Plan-Act-Observe-Reflect’ cycle

Statement lI: The purpose of Action research is to develop a theory to explain causal
relationship among variables

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

21052935057. 1

21052935058. 2

21052935059. 3

21052935060. 4

Question Number : 15 Question Id : 2105298929 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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CIEEA I C AT M

©Y-| : [haTeT® U 991 gidl & &4ifs 3UH dioHI-ehal-Gddau-[AaRuN &1 9 T
Bl

HY-1| : BpUTHD STHHH DT TGIoH TRI B sid DRUTHD Haitl B IR P 5 TP [Gid
famfd &1 BiaT 2

IWdd HYHT & et H Fgifdd fddel J ¥ waffie Sugdd 3w 9 -

1. TYF | 3R 1| GHf T81 8

2. FYA | 3R 1 GiHf Gal T8l B

3. BYH-1 a1 8, fbg oyH-11 Ul 1T |
4. DYH-1 TE! 18! 8, foo=q Y- Gl B
Options :

21052935057. 1

21052935058. 2

21052935059. 3

21052935060. 4

Question Number : 16 Question Id : 2105298930 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Shifting technologies and communication institutions contribute to

1. System integration

2. Temporal disintegration

3. Psychological disintegration
4. Spatial integration

Options :

21052935061. 1

21052935062. 2

21052935063. 3
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21052935064. 4

Question Number : 16 Question Id : 2105298930 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

URAd-Tg deHTdle R SR TRl & dRU FgiiiEd § 9 @ uiedgiErs -

1. {0 ThIHI

2. HHfa® faged

3. HIaRTS faged
4, ™S TDIHu
Options :
21052935061. 1
21052935062. 2
21052935063. 3
21052935064. 4

Question Number : 17 Question Id : 2105298931 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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The positive impact of communication depends upon

A. Acceptance of barriers

B. Planning

C.Sudden expression

D. Media selection

E. Use of language

Choose the correct answer from the options given below:

1. A, B and D only
2. B, D and E only
3.C, D and E only
4. A, Dand E only
Options :
21052935065. 1
21052935066. 2
21052935067. 3
21052935068. 4

Question Number : 17 Question Id : 2105298931 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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HOR B FHRIED YHIE FHEftiad 7 8 ey m R awarg
A. STH131 B WIPRAT

B. SIS

C. 3EF® SHfHafEd

D. Hifsar g+

E. HIWT &1 UG

i U 7T faeeal # 9 5l SR gy -

1. 9 A B3R D
2. Had B, D AR E
3.$adC, D 3MRE
4 HAAA DR E
Options :
21052935065. 1
21052935066. 2
21052935067. 3
21052935068. 4

Question Number : 18 Question Id : 2105298932 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Universality of communication makes education vital and vibrant
Reason R: Semiotic narration does not lend itself credence to make it an efficient mode of
teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935069. 1

21052935070. 2

21052935071. 3

21052935072. 4

Question Number : 18 Question Id : 2105298932 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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RGP RUTE . 1o &1 SfidHE (A) R TR B dF (R) BT -
HFYBHY (A) : TR BT FAUHDHT 218 B Gollg Td Siigd st

dd (R) : idldd® RS &0 &1 uyTdt f3f4 815 1 Gyg-ad W J3 Tal 3a3d |
Sad B! & D | FEifed e & ¥ aiiie Suged S dH :

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 3R (R) GHI G818 3R (R), (A) DI Uel RSAT T8I 5|
3. (A) 981 & TR (R) ¥ol Te! &

4. (A) Bl 61 8 ¥ (R) 9Bl 5|

Options :

21052935069. 1

21052935070. 2

21052935071. 3

21052935072. 4

Question Number : 19 Question Id : 2105298933 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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The chronological sequence in the development of communication system is
A. Emergence of language

B. Cave paintings

C. Interpersonal communication (verbal)

D. Appearance of printing technology

E. Telecommunication system

Choose the correct answer from the options given below

1. A BCED
2B EDCA
3.CDEARB
4B, A CD,E
Options :

21052935073. 1
21052935074. 2
21052935075.3
21052935076. 4

Question Number : 19 Question Id : 2105298933 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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GHIYUT YUTTcl! & fAdh H DIasaaR ol HIHhH o :

A. HINT BT 35d

B. BT RADR]

C. Sidqduida® gRmY (HIED)

D. HGUl U] &1 3agd

E. GYHTR UMl

i U 7T fqchedl # € U5l STk &1 99 Hifol -

1. A BCED
2B EDCA
3.CDEARB
4B, A CD,E
Options :

21052935073. 1
21052935074. 2
21052935075.3
21052935076. 4

Question Number : 20 Question Id : 2105298934 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List Il

Example Type of communication

4. Addressing the nation over national TV network|l. Horizontal communication

B. Conducting a workshop for a select number of |Il. Intra-personal communication
teachers

C. Internal conversation with fellow workers Ill. Mass communication

D. Recollection of past events V. Group communication

Choose the correct answer from the options given below:

TLA-LB-ILC-IILD-IV
2ZA-1ILB-NLC-IV,D-1
3A-IILB-IV,C-1,D-1i
4 A-IV,B-LC-IILLD-1I
Options :

21052935077. 1
21052935078. 2
21052935079. 3
21052935080. 4

Question Number : 20 Question Id : 2105298934 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Gai-1 il Gali-11 & 9y GAferd Hifor -

qal-| -1l
EEHEU TR & UHR
A. TG & dl ead W oW S WEIUd B |1 Slfes geiw
B. gHal T © R & sriwnen maifed |11, 3id: dafdas

GZEI] peasioiy

c et STl & Y YRS siadid IREEEEIR

D. 3Hcild @1 g3 ] TRUI V. BT GRINT
e feu e fasedl ©f © ggl IR gHU:

TLA-LB-ILC-IILD-IV
2ZA-1ILB-NLC-IV,D-1
3A-IILB-IV,C-1,D-1i
4 A-IV,B-LC-IILLD-1I
Options :

21052935077. 1
21052935078. 2
21052935079. 3
21052935080. 4

Question Number : 21 Question Id : 2105298935 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements

Statement |: If the ratio of the speeds of A and B is a:b, then the ratic of the times taken by
them to cover the same distance is b:a

Statement lI: Suppose two men are moving in the same direction at u m/s and v m/s
respectively, where u > v, then their relative speed is (u+v) m/s

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052935081. 1

21052935082. 2

21052935083. 3

21052935084. 4

Question Number : 21 Question Id : 2105298935 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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CIEEA I C AT M

®YA-1: TG A 3R B DI 71Tl BT U a: b § dl GAM g 79 DA H I3 gRI AL 7T THY Bl
HUTd b : a BT

mYUA-| Fﬁfﬂﬁma@ﬁwmﬁm u m/s IR v m/s aﬁTﬁﬁﬂT?ﬁ%{\_ﬁTu > u%l
df SI@! ITUfE® T (u+v) m/s BHTTI

Suddd Bl & Sidle | fEifod fdoddl & 8 98l s g

1. DY | 3R 11 GHT Fgl B

2. @Y | 3R 1| GFf Tad & |

3. BYH-1 9 &, foog HY-11 7Tid B
4. DYH-1 38 8, foog HYH-11 981 B
Options :

21052935081. 1

21052935082. 2

21052935083. 3

21052935084. 4

Question Number : 22 Question Id : 2105298936 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Consider the following three expressions

A. 35+ 007

B. 2.5 + 0.0005

C.136.09 + 43.9

What is the correct descending order for the simplified values of A, B and C?
Choose the correct answer from the options given below

2 S R
2C>A=>B
3C>B=A
4B>C=>A
Options :

21052935085.
21052935086.
21052935087.
21052935088.

AW N =

Question Number : 22 Question Id : 2105298936 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



10/1/2020

Fofafag 3 avef = TaR &1
A. 35 = 0.07
B. 2.5 = 0.0005

C.136.09 + 43.9

A, B 3R C & TRelldpd HH o Yol faRle! HH H1 & ?

2 S R
2C>A=>B
3C>B=A
4B>C=>A
Options :

21052935085.
21052935086.
21052935087.
21052935088.

AW N =

Question Number : 23 Question Id : 2105298937 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Which of the following numbers are non-prime?

A1

B.13

.19

D. 21

E. 15

Choose the correct answer from the options given below:

1. A and E only
2. B and C only
3. Cand E only
4. D and E only
Options :
21052935089. 1
21052935090. 2
21052935091. 3
21052935092. 4

Question Number : 23 Question Id : 2105298937 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



101112020
FafeRad | ° ®F-8 9% Hisy =AU § 7
A 11
B. 13
C.19
D. 21
E. 15
i feu e fdmedl & ¥ 981 SR &1 98- Bitid :

1. Bad A AR E
2. Paa B 3R C
3. Had C 3R E
4 HAAD 3ARE
Options :
21052935089. 1
21052935090. 2
21052935091. 3
21052935092, 4

Question Number : 24 Question Id : 2105298938 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Find the odd number in the following series
644, 328 164, 84 44 24 14

1. 44
2. 84
3. 164
4. 328
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Options :
21052935093. 1
21052935094. 2
21052935095. 3
21052935096. 4

Question Number : 24 Question Id : 2105298938 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Fofafag w9 H O g T &1 udl aid

644, 328, 164, 84, 44, 24, 14

1. 44

2. 84

3. 164

4. 328
Options :
21052935093. 1
21052935094. 2
21052935095. 3
21052935096. 4

Question Number : 25 Question Id : 2105298939 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Kavita sold a mobile phone at the price of ¥ 1950 and made a loss of 25%. At what

price will she have to sell it to get a profit of 30%?

1. X 2600/-
2. X 2780/-
3. X 3000/-
4. T 3380/-
Options :
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21052935097. 1
21052935098. 2
21052935099. 3
21052935100. 4

Question Number : 25 Question Id : 2105298939 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Hiddr = 25 Ufaed @I 81 0 1950 394 H TP AE5d B 591l 30% & a4 1R 39 HiE5d @
doH o 34 foaHl dIFd UR &1 g ?

1. 2600 /- T9Y

2. 2780 /- ©UY

3. 3000 /- ©4Y

4, 3380 /- UL

Options :

21052935097. 1

21052935098. 2

21052935099. 3
21052935100. 4

Question Number : 26 Question Id : 2105298940 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

If the word HEART is written as SQPMZ, then EARTH can be written as

1. QPMSZ

2. QPMZS

3. QMPSZ

4, QMPZS
Options :
21052935101. 1
21052935102.2
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21052935103. 3
21052935104. 4

Question Number : 26 Question Id : 2105298940 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

TG HEART @I SQPMZ & ¥4 H fo’al 9ITd & df EARTH @ g dig RaT ST 9T & 2

1. QPMSZ

2. QPMZS

3. QMP5Z

4, QMPZS
Options :
21052935101. 1
21052935102. 2
21052935103. 3
21052935104. 4

Question Number : 27 Question Id : 2105298941 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

In the sequence
10KL13, 15PQ18, 19TU22,
What will be last place?

1. 22VW23

2. 22VW24

3. 23XY25

4, 23XY26
Options :
21052935105. 1
21052935106. 2
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21052935107. 3
21052935108. 4

Question Number : 27 Question Id : 2105298941 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

H9HH T 10KL13, 15PQ18, 19TU22, _ 3ifd9 R W &1 gH1 ?

1. 22VW23

2. 22VW24

3. 23XY25

4, 23XY26
Options :
21052935105. 1
21052935106. 2
21052935107. 3
21052935108. 4

Question Number : 28 Question Id : 2105298942 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

In the statement 'the hill has smoke because it has fire', which type of fallacy may be
identified?

1. Asidha

2. Sadharana

3. Asadharana

4. \/yapyatvasidha
Options :
21052935109. 1
21052935110. 2
21052935111. 3
21052935112. 4
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Question Number : 28 Question Id : 2105298942 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

TRTS! W Yl & &l 981 o1 &, 59 $YA 4 64 UPR P 8aIHE 8 2

1. 3=

2. =R

3. HHHNT

4, ATANEG
Options :
21052935109. 1
21052935110.2
21052935111. 3
21052935112. 4

Question Number : 29 Question Id : 2105298943 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

All knowable objects are nameable;

The pot is a knowable object;

Therefore, the pot is nameable

The above is an example of which type of inference?

1. Kevalanvayi

2. Kevalavyatireki
3. Anvaya Vyatireki
4, Shesavat
Options :
21052935113. 1
21052935114. 2
21052935115. 3
21052935116. 4
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Question Number : 29 Question Id : 2105298943 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

IH TP ITTH 8
9y, e HHET
JURIa [ UPR o SIHH Bl JGeU g ?

1. g4l
2, A DI
3. gD

4, R94q
Options :
21052935113. 1
21052935114. 2
21052935115. 3
21052935116. 4

Question Number : 30 Question Id : 2105298944 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List Il

Pairs Pairs of analogies
4. Newspaper - Press . Thirst - Water

B. Dog - Kennel Il. Cow - Calf

C. Hen - Chick l1l. Cloth - Mill

D. Darkness - Lamp IV. Mouse - Hole

Choose the correct answer from the options given below

TA-ILB-IV,C-1,D-1l
2ZA-IILB-IV,C-IlLD-1
JA-IVB-ILC-1L,D-1I
4 A-L,B-ILC-II,LD-IV
Options :

21052935117. 1
21052935118. 2
21052935119.3
21052935120. 4

Question Number : 30 Question Id : 2105298944 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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-1 F T 1 -1 I e T 3 gRR S

qal-| -1l

A FHER UF : U9 I T : U

B. ©dl : 1.7 d&5]
C. il : gen . duel : g
D. 3HERT : A V. 981 : fadd

id feu T7u fasedl # 9 U8l IR gHU:

TLA-ILB-IV,C-1,D-1ll
ZA-NILB-IV,C-1,LD-1
3JA-IV,B-1,LC-1,D-1lI
4 A-1LB-NILC-I,D-1IV
Options :

21052935117. 1
21052935118. 2
21052935119. 3
21052935120. 4

Question Number : 31 Question Id : 2105298945 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List 11

A. Web browser . Hard Disk
B. Operating system Il. Chrome
C. Secondary memory 1. MS-Word
D. Application software V. DOS

Choose the correct answer from the options given below:

TLA-NLB-ILC-1,D-1IV
ZA-1LB-IV,C-1,D-1lI
3JA-NLB-L,C-1I,D-IV
4 A-NLB-I,C-IV,D-Il
Options :

21052935121. 1
21052935122. 2
21052935123.3
21052935124. 4

Question Number : 31 Question Id : 2105298945 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Gai-1 il Gali-11 & 9y GAferd Hifor -

qal-| -1l

A, 99 FI3R . BT f&%h
B. HIOfT ey :ac

C. Upug! Tar Il. 9 g-d8
D. &b W AAR V. 8

id feu T7u fasedl # 9 U8l IR gHU:

TLA-NLB-ILC-1,D-1IV
ZA-1LB-IV,C-1,D-1lI
3JA-NLB-L,C-1I,D-IV
4 A-NLB-I,C-IV,D-Il
Options :

21052935121. 1
21052935122. 2
21052935123.3
21052935124. 4

Question Number : 32 Question Id : 2105298946 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 11

List | List I

A, Software l. Step by step procedure to solve a problem
B. Hardware Il. Raw facts and figures

C. Algorithm Ill. Hard Disk

D. Data IV. Linux

Choose the correct answer from the options given below:

1LA-NLB-LC-I,D-1IV
ZA-NLB-ILC-1,D-1IV
3JA-IV,B-1,C-1I,D-1II
4 A-IV,B-1L,C-I,D-I
Options :

21052935125. 1
21052935126. 2
21052935127. 3
21052935128. 4

Question Number : 32 Question Id : 2105298946 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Gai-1 il Gali-11 & 9y GAferd Hifor -

qal-| -1l

A. RGO |. GHHT AR 3 WS dSid
B. BT8dW 1. <l 9% U4 i

CU@ATRYT 1. 518 &%

D.ETel VASIEGES

=i f&u 70 f9@eal § 9 el SOk Y

1LA-NLB-LC-I,D-1IV
ZA-NLB-ILC-1,D-1IV
3JA-IV,B-1,C-1I,D-1II
4 A-IV,B-1L,C-I,D-I
Options :

21052935125. 1
21052935126. 2
21052935127.3
21052935128. 4

Question Number : 33 Question Id : 2105298947 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

What type of device is a joystick?

1. Input

2. Output

3. Memory

4. Processor
Options :
21052935129. 1
21052935130. 2
21052935131.3
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21052935132. 4

Question Number : 33 Question Id : 2105298947 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

SR ® [hd UhR &1 giad § 7

1,302

2. A3

3. HART

4, TS
Options :
21052935129. 1
21052935130.2
21052935131.3
21052935132. 4

Question Number : 34 Question Id : 2105298948 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Which of the following is an application software?

1. Android
2. 108

3. Linux

4. MS Word

Options :

21052935133. 1
21052935134.2
21052935135.3
21052935136. 4
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Question Number : 34 Question Id : 2105298948 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Fafafad 4 ¥ ®F 91 claeH 9iieddl § ?

1. 75
2. 35 341 Tg
3. g

A THTE TS
Options :
21052935133. 1
21052935134. 2
21052935135.3
21052935136. 4

Question Number : 35 Question Id : 2105298949 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Information is

1. Raw data

2. Processed data

3. Redundant data

4. Always ordinal data
Options :
21052935137. 1
21052935138.2
21052935139. 3
21052935140. 4

Question Number : 35 Question Id : 2105298949 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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LCRIGE

1. {gdRYd Wed
2. garfed ed

3. AfdRed Ued

4, GO HAS UGT
Options :
21052935137. 1
21052935138.2
21052935139. 3
21052935140. 4

Question Number : 36 Question Id : 2105298950 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence in increasing order of the carbon content per unit mass of the
following reservoirs of carbon in terrestrial environment

A. Plants

B. Peat

C. Soil organic matter

D. Fossil fuels

Choose the correct answer from the options given below

1.B,ACD
2ACBD
3.B,.C,D A
4.B,A D C
Options :
21052935141. 1
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21052935142. 2
21052935143.3
21052935144. 4

Question Number : 36 Question Id : 2105298950 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Ry dIaTau] § &le- o Hyfaiad YeRl & ufd sdis o &I i+ A6 & d6d gU &Y &1
el 3rdwH ffsd pife :

A Ui

B. Ui (Ule)

C. el & dlai-d ey

D. SiTared 344

i f&u 7Y faeeal 5 9 W5l SR gAY -

1.B,ACD
2ACBD
3.B,.C,D A
4.B,A D C
Options :
21052935141.
21052935142.
21052935143.
21052935144.

AW N~

Question Number : 37 Question Id : 2105298951 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Lakes are less prone to getting polluted than rivers
Reason R: Water in lakes gets replaced through natural processes

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935145. 1

21052935146. 2

21052935147. 3

21052935148. 4

Question Number : 37 Question Id : 2105298951 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0



RGP RUTE . th &1 SfidHE (A) R TR B dF (R) BT -
B (a) - et el @ oa HH Ugtd & @ AR Ugd 6|

@ (R) : Sl & 5t Wi la® ufsrarst gR1 ufikafdd giar g

S U B e & P R 7 3 Jaiie ST SR g

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 3R (R) GHI G818 3R (R), (A) DI Uel RSAT T8I 5|
3. (A) 981 & TR (R) ¥ol Te! &

4. (A) Bl 61 8 ¥ (R) 9Bl 5|

Options :

21052935145. 1

21052935146. 2

21052935147. 3

21052935148. 4

Question Number : 38 Question Id : 2105298952 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Under Millenium Development Goal 5, maternal mortality ratio between 1990 and 2015 was to

be reduced by

1. 50 %
2.75%

3.66 %

4. 40 %
Options :
21052935149. 1
21052935150. 2
21052935151.3
21052935152. 4
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Question Number : 38 Question Id : 2105298952 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Hgdlie (Fcifam) fderd e s & idid, 1990 3R 2015 & A AJP A fbd-il oH BT
UG T 2

1. 50 %
2.75%

3.66 %

4. 40 %
Options :
21052935149. 1
21052935150. 2
21052935151. 3
21052935152. 4

Question Number : 39 Question Id : 2105298953 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

According to the classification of Ministry of New and Renewable Energy and Central Electricity
Authority of India, small hydro power plants have capacity in the range

1. 1-25 MW

2. 100-1000 kw
3. 1-50 MW

4. 1-100 kW
Options :
21052935153. 1
21052935154. 2
21052935155. 3
21052935156. 4
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Question Number : 39 Question Id : 2105298953 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

74 T FABRUITE Sl HATG 3R HRAIG 51 [aggd WIHH0 & Fiihul & S9R Y ol
ok Y4 DI &1 Bl A1 8

1.1 - 25 TG

2. 100 - 1000 f@amEre
3.1 - 50 HE@IE

4.1 - 100 fpaare
Options :
21052935153, 1
21052935154. 2
21052935155. 3
21052935156 4

Question Number : 40 Question Id : 2105298954 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

India's first National Policy on Education was a sequel to the recommendations of which of the
following committee/commissions?

1. Kothari Commission

2. Mudaliyar Commission

3. Ramamurti Review Committee
4, Radhakrishnan Commission
Options :

21052935157. 1

21052935158. 2

21052935159. 3

21052935160. 4

Question Number : 40 Question Id : 2105298954 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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fRre W HRd &1 uscd gy Hifd Frafcfed few afff / smam ot st o1 uRom 4 2

1. DISRT STGRT

2. HGICOR SR

3. I GALE AT
4. UTHWH SR
Options :

21052935157. 1
21052935158. 2
21052935159. 3
21052935160. 4

Question Number : 41 Question Id : 2105298955 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

'MEAT' an MHRD scheme, aims at

1. Better learning outcomes in higher education

2. Facilitating medical entrance examination

3. Better financial resource management

4. Promaoting 'SWATCHH' campuses under Swatchh Bharat Abhiyan
Options :

21052935161. 1

21052935162. 2

21052935163. 3

21052935164. 4

Question Number : 41 Question Id : 2105298955 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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A IR S B AT TS U A e g

1. 3= f21e & ggar it uRoms

2. BfSHa Udw e &1 9d a1

3. SR [aug THEH Used

4, T YR HAE & STl W U & 9®i1=
Options :

21052935161. 1

21052935162, 2

21052935163, 3

21052935164. 4

Question Number : 42 Question Id : 2105298956 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

The first National Sports University (a Central Government University) is in the state of

1. Haryana

2. Manipur

3. Arunachal Pradesh
4. Punjab

Options :
21052935165. 1
21052935166. 2
21052935167. 3
21052935168. 4

Question Number : 42 Question Id : 2105298956 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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UYH 1Y W fayfaeney @ feufdeny) e asa He 2

1. giegmn

2. AR

3. 3TBUMEA UG
4, UaTg

Options :
21052935165. 1
21052935166. 2
21052935167. 3
21052935168. 4

Question Number : 43 Question Id : 2105298957 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Which of the following committees/commissions in their report recommended that science

Education and Research should receive high priority to accelerate national economy?

1. Acharya Narendra Dev Committee
2. Mudaliyar Commission

3. Radhakrishnan Commission

4. Kothari Commission

Options :

21052935169. 1

21052935170. 2

21052935171. 3

21052935172. 4

Question Number : 43 Question Id : 2105298957 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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frafeiad wiafaar / smam H 9 feow 3o ufddes H =i & fos Tg rdeuaw o dig
B o forg o e o =iy o S wrfdddr Ui g1+ =1 2

1. 3T A¥5ca afifd
2. HGICAR SR

3. AUTHUH HANT

4, PISKT AR
Options :
21052935169. 1
21052935170. 2
21052935171. 3
21052935172. 4

Question Number : 44 Question Id : 2105298958 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Global emissions of carbon dioxide stagnated during the years 2014-2016

Reason R: Strong energy efficiency improvement measures and low carbon technologies were
deployed during 2014-2016

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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Options :
21052935173. 1
21052935174.2
21052935175. 3
21052935176. 4

Question Number : 44 Question Id : 2105298958 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

HId gl &Y [GU TN B : Ul @l 3fHdmYH (A) AR GHL &I dd (R) Bl A1 & -
HFHBY (A) : BIE BI5 AFSS BT HIGHIHS I a8 2014 - 2016 & SR R UT|

TP (R): 2014 - 2016 B TRH Hell Gadl GUR IUM AR 9 Bla- dhb-1dbdl Heigd
ORI g |

IWjdd ®HYHT & 3HTciie H Fgifed fddedl 3 I Taifte 3ugdd 3w 94 :

1. (A) 3R (R) GHT ET T 3R (R), (A) BT Yol ARG
2. (A) AR (R) GHI F&T & 3R (R), (A) BT Fel RS T8l B
3. (A) WEl & IR (R) WEl T

4. (A) WEI 981 8 W (R) WEI B

Options :

21052935173. 1

21052935174. 2

21052935175.3

21052935176. 4

Question Number : 45 Question Id : 2105298959 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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A predatory journal is the one whose publishers

1. Publish for a fee with substandard or no peer reviewing
2. The publishers of journals have acquired the publishers of journals in similar disciplinary

domains

3. Publish without a fee but with proper reviewing

4. Insist on charging a fee for publishing after the manuscript has been accepted for
publication with proper reviewing and editing

Options :

21052935177. 1

21052935178. 2

21052935179. 3

21052935180. 4

Question Number : 45 Question Id : 2105298959 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

ieedl o dg & fogd] UaHE®

1. Sd-0H® Hydl foT1 4R e &, Yo & ot UPb1RId ol &

2. YU SRHHS &3 B uRmTe & UHI=Id! I Julfeid o ol &

3. T9H1 e o T Tferd RIEI0T o 1Y UobIiRId &dl &

4, G TARIEU 3R GUTeH & 1Y YbIH od Uigiad & Wibridl & 916 YH1RH og Yed &
feTT 3HTE HRdl Bl

Options :

21052935177. 1

21052935178 2

21052935179. 3

21052935180. 4

Sub-Section Number : 3

Sub-Section Id : 210529344

Question Shuffling Allowed : Yes
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Question Id : 2105298960 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

The ceremonial use of slogans and catchwords in educational discussions raises the suspicion
of a tenuous linkage between thought and action. As stock phrases multiply and the talk
begins to take on an idealistic ring, the wary listener might well begin to wonder whether the
lip service paid to these concepts is connected with what actually goes on in classrooms. It is
difficult in this day and age to be opposed to democracy, creativity, and innovation in
education, but how are these attractive words related to the more mundane business of
teaching practice? The answer, of course, is that the two are often not related - a fact that
accounts for one of the most frequently recurring complaints among today's educators: the
all-too-obvious gap between theory (i.e., educational talk) on the one hand and practice on
the other.

The dissonance between what teachers say, or at least what their leaders say, and what they
do takes many forms and has several important consequences. For some, it lays the
groundwork for the development of a cynical outlook towards the admonitions of idealists
and the advocates of new and supposedly revolutionary practices. This cynicism, which grows
out of a prior sense of disillusionment, strikes many young teachers as they begin to
appreciate the unrealistic quality of several of the expectations aroused during the period of
their professional training. Teaching as actually experienced and as described in textbooks and
college courses often turns out to be to quite different states of affairs. The result is that
college instructors of education and other outsiders begin to be looked upon with suspicion
by many practitioners. Even the testimony of fellow teachers may be viewed suspiciously when
it conflicts with the listener's own experience in the classroom.

Sub questions
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Question Number : 46 Question Id : 2105298961 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

The use of stock phrases in educational discussions has tended to reveal

1. The linkage between thought and action

2. The difference between saying and doing in classroom contexts
3. The ceremonial importance of slogans

4. The idealistic ring of talks

Options :

21052935181. 1

21052935182. 2

21052935183. 3

21052935184. 4

Question Number : 47 Question Id : 2105298962 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

How are the idealistic concepts related to the routine practices in education?

1. They intertwine theory and practice

2. They make classroom teaching innovative

3. They make the business of education highly profitable

4. They lead to the identification of gap between theory and practice
Options :

21052935185. 1

21052935186.2

21052935187.3

21052935188. 4

Question Number : 48 Question Id : 2105298963 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0
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What is the sequel of lack of congruence between saying and doing as evident in teacher
behavior?

1. Opposition to revolutionary practices

2. Lays ground for frequent complaints

3. Emergence of disillusionment among teachers
4. Support to the admonition of idealists
Options :

21052935189. 1

21052935190. 2

21052935191. 3

21052935192. 4

Question Number : 49 Question Id : 2105298964 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Why do young teachers appreciate the unrealistic quality of expectations?

1. Because of the cynical attitude among teachers

2. Because of the testimonial given by fellow teachers
3. Because of their professional training

4. Because of their own experience in teaching
Options :

21052935193. 1

21052935194. 2

21052935195.3

21052935196. 4

Question Number : 50 Question Id : 2105298965 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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The passage analyses

1. The linkage between language and discussions

2. The schism between theory and actual practice of teaching

3. The need to the use of high brow language in educational discussions
4. The importance of idealism in education

Options :

21052935197. 1

21052935198. 2

21052935199. 3

21052935200. 4

Question Id : 2105298960 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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e g e e #1 ufey iR el F IR i :

Qfere uik=aialt & qeraier uel td TR &1 Nu=iRe SyEi 39 91d & §R | a8 Ta &l &
for g wd & & gad 9eY §1 SI9-99 11 U=ied Wl # SifiafE gidl & 9yl aadid § U
HTGRIaTal Ue ¢E- @ [Hadl 8, U@ 9o 4idl 98 3%d & o 9adl & (& o Meal & a H ol
e Tao- UKl § &1 9 I8 §d1 Uid § o $aFTd 9Raw &1 dRaidddl &1 g1 31§ & 39 T
®Icl H R8T H didhdd, YoFRiierdl Ud 4R & [d%g ofFl Sis- g1 quifd, 3 Hdhus Ue R
aeR H 3 ¥U Y =i harsil & fbad 9g! URYT® g |

fice, 3 aFi U SEftd el § - Ue Ul aRalasdl forge e o e 2t urg: e gat
4 BId € au1 [9sid Ud ouaeR H WPd: ORI JUSa aE- ®i Hed &1 S 18 Bed § iudl
3% 1 5l BEd & aYT d S Bd & S99 R SHar fAEnfa o3 wul § sififerad gidt & aur
s He<gqul URuTHEl P 2R 3 S1dl 21 Biaug i & e gg snexfard! ufyuket ud aifig qur
SifaeRl TdeRl & GG & Uid Ueh Hcia-IdS 2P f[abiid &3 31 ATURRI [AHid 1
Sl 81 gd H 3yd TRy § wd g8 FREmaifedr sftea e et iR oo uss & o B
o4 d 39 91d @1 Heqd $3d € (& auids URE &f 3afd o urd eydl ud Iuial @l
TTora AU ¥ W B U - Tl U4 Hendaredl & ureusmal ¥ aftld ud oy e &
AT Uge &4 91d &1 URUMHEEY RSN & e Td =7 SIel dill &l i
BRI Uag I TP U 68 &H o oflal & | 9gaitll [l gR1 faT ¢ yam Hi 968 & @R H ¢4 Sd
€ o9 gg D&l H U9 -4l & HgHd & Y oHd 9 Sid 2

Sub questions

Question Number : 46 Question Id : 2105298961 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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Sefforep Taion 7 o TaRE GeTaR! 3 W 1 e FarRad A @ a1 Sgud e B

1. [dOR iR o1 & s19 98y

2. BETTd UG | ®al off Yol 91d 3R [dE o 3¢ B & &d &l 3k
3. R BT I0® A5

4. ardiiel # Seianicdl &1 9e

Options :

21052935181. 1

21052935182. 2

21052935183, 3

21052935184, 4

Question Number : 47 Question Id : 2105298962 Question Type : MCQ Option Shuffling : No Is Question I
Correct Marks : 2 Wrong Marks : 0

HIGAE HIURUY R8T H 90 HaeR 4 [Pg UeR U 9Si ¢ ?

1. 1 Figid 3R s0deR & g § Sisdl &

2. T HETTT &0 1 Aar=y! g1 & |

3. 4 R1e a9 & 1! AIYSR] §40dl 8

4,1 THGId 3R 2998R & 819 & 3tk &1 UgdH $aii ¢
Options :

21052935185. 1

21052935186. 2

21052935187. 3

21052935188, 4

Question Number : 48 Question Id : 2105298963 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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218107 coagR H URGiEd SYHT IR T & dig HHod 1 $H| & 91 URMH 8ial & 7

1. BIfHR] HagR| &I f[add |

2. dRER Rerd & gFg1E usdl &l
3. et J gigydn &1 ufd Uar 8idt 81
4, AeRiaeal st Yo & gadH
Options :

21052935189. 1

21052935190. 2

21052935191, 3

21052935192, 4

Question Number : 49 Question Id : 2105298964 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

U R1& IufEl &1 Saraiad qUEdl &1 U= & Hd & 2

1. Rl & o9 SRl Ughi & SR

2. YearT g R ST T YHIUE & SRl
3. 37U YIS URIE & HRU

4, TRI&(U1 H 30 34T & BRUI

Options :

21052935193. 1

21052935194. 2

21052935195. 3

21052935196. 4

Question Number : 50 Question Id : 2105298965 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0
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1. 4197 3R uR=El & &9 Uy

2. faner & figid iR aRGfd® cdsR & oid oG

3. Q&0 Faisll & S TR 31 YN & UORT &1 a=admdl
4. Tien 9 sfeRidg &1 Hg@

Options :

21052935197. 1

21052935198 2

21052935199, 3

21052935200. 4

PART II Economics
Section Id : 210529110
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529345
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105298966 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0



